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Project 3

Please answer the following questions assuming the single index model holds. Use your project data in the period
01-Jan-2014 to 01-Jan-2019.

1. Compute estimates for αi, βi, σ
2
εi , i = 1, 2, . . . , 30 by regressing each stock’s return on the S&P500.

2. Construct the 30× 30 variance covariance matrix based on the single index model.

3. Answer the same question as in project 2, part (e) using the new inputs from (1) above. Draw the frontier on
the same plot as in project 2. Now you will have two frontiers, one using the historical variance covariance
matrix (project 2) and one using the variance covariance matrix with inputs from the single index model.


